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According to Ebbinghaus rate of
forgetting is more immediately
(1) 20 minutes of learning

(2) 2 days of learning

(3) 6 days of learning

{4) 31 days of learning
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Development of the individual
depends upon the interrelationshi B
of the following :

(a)} Physical

(b) Cognitive

{t) Emotional

(1) (a), (b)

(2 (), ()

@ () (a)

(4) (a), (b) and (c)
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Sustenance of motivations is more
in this type of motivation.

(1) Extrinsie

(2) Intrinsic

(3) External

4) Unrealistic
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As per the Right to Education Art,
2008, maintenance of records of
children upto the age of 14 years
residing within its jurisdiction is the
dutyaf ...

(1} Mandal Educational Officey
(2) Distriet Edueational Officer

(3) Loeal Authority

(4) Head Master
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One of the following helps a 10-vear-

old girl to ride a bievele efficiently.

(1) Learning and maturation

(2) Maturation and readiness

(3 Learning and readiness

(4) Readiness, maturation and
learning
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People speaking different languages

are living in a village. As per the

inclusive educational palicy, this

type of elementary school need to be

‘gstablished in that village.

(1) Separate schools based on each
language

{2) A single school haning sections
for each language

{3) A common school for all

(4) A school with medium of]

majority speaking languages
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Fxpand DAT.

{1y Differential Achievement Tost
(#) Differential Aptitude Test
{3) Differential Ability Test

(4) Differential Attitude Test
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As per NCF 2005, the teacher
should use ..o

(1) single texthook for a subject

(2) multiple texthooks for a subject
(%) texthook developed in local

language only

{4) a single textbook for a subject
state

published bys a

government only
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When a baby cries out of hunger or
discomfort and the parents
responding immediately every time,
malkes it learn that the parents will
meet all its needs, As a result one of
the following begins to develop in the
baby.

(1) Trust

(2) Autonomy

(3) Initiative

(4) ldentity
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One of the following is NOT correct
with regard to teaching.

{1) Directional

(2) Motivational

{3) Interesting

(4) Enforcing
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Creation of learning environment

for a class in the school is the

responsibility of ...

(1) Teacher

{2) Mandal Educational Officer

{3) Student Leader

(4) Local Authority
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One of the following is Havighurst's

developmental task of adolescence

stage.

(1) Learning sex differences and
sexual modesty

(2) Building a wholesome attitude
toward onesgelf as a gruwiqﬁ_.
organism

(3) Accepting one's physigue and
using one's body effectively

{4) Developing concepts necessary
for everyday living
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13. ldentifving differences between two | 15.  'Freedom of expression' is

stimuliis ... (1) not a child right

(1) extinetion {2) a right of mentally healthy
children only

(3) achild right

(4) a right of all school going

{2) digerimination
(3 peneralization

{4) higher order conditioning

; children only
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. According to Piaget, language . ’
it ASCOTCERE CHEREE R 16. The [eeling of =atisfaction that
developfiient, Gttty rapidly duriug increases the likelihood of the

this stage. sequence of the behaviour to occur
(1) Conerete operational Agiin il

(2) Formal operational (1) law of exercise

() Sensorimotor (2) law of effect

el
{4) Preoperational (3} Jaw of readiness

(4) law of contiguity
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Application of bitter agents on

thumb to discontinue thumb

suckinginachildiz............

(1) negative reinforcement

{2) pozitive reinforcemont

(3) punishment

(4) zero reinforcement
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The teaching strategy that DOES

NOT involve democratic style.

(1) Group discussion strategy

(2) Project strategy

{3} Tutorial strategy

{4) Brammstorming strategy

hengtio, 3R BBNCHoots Sirmeie.
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One of the following 1z an example

for intraindividual differences.

{1) 'A" and 'B' performed a musical
concert in which "B excelled

(2) In spite of studying for the same
number of hours, "A' used to take
more time to learn a concept
than'B'
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{#) Though having interest in
academics and games A’ always
used to excel in games

(4) 'B' used to quarrel always with
peer group members, whereas A’

used to be calm and quiet
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An individual's personality is the

result of hisfher ...,

(1) genetic endowment

(2) child rearing practices

(3) soeial setup

and

(4) genetic  endowment

environmental exposure
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Controlling one's emotions,
impulses according to the changing
situations 13 known as ...

(1) self-awareness

(2} self-regulation

(3) self-actualization

(4) self-motivation
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i, pdumuic etsp® scnshats
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Support for learning in problem
golving which allows the student to

grow inindependence as a learner

{1) zone of proximal development
(2) self-instruction
(3) instructional conversation

(4) scaffolding
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In this method, to understand the
child, teacher observes child in
natural settings, records its
behaviour and maintains it.

{1} Case study

(2} Experimental

(3} Rating scale

(4) Anecdotal
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Weight of new born baby quadruples

(1) 2 years
(2) 3 vears
(3) 1 year
(4) 6 months
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Controlling one's emotions,
impulses according to the changing
situations is known a8 e

(1) self-awareness

(2) self-regulation

(3) self-actualization

{4) self-motivation
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Support for learning in problem
salving which allows the student to

grow in independence as a learner

(1) zone af proximal development
(2) self-instruction

(3) instructional conversation

(4) scaffolding
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In this methad, to understand the
child, teacher observes child in
natural settings, records its
behaviour and maintains it.

(1) Case study

(2) Experimental

(3) Rating scale

i4) Anecdotal
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Controlling one's emotions,
impulses aceording tothe changing
situations isknown as ...

(1) self-awareness

{2) sell-regulation

(3) self-actualization

(4) self-motivation
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Support for learning in prohlem
solving which allows the student to
grow In independence as a learner
(1) zone of proximal development
(2} self-instruction

(3) instructional conversation

(4) scaffolding
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In this methed, to understand the
child, teacher observes child in
natural settings, records its
behaviour and maintains it.

(1) Case study

(2) Experimental

(3) Rating scale

{4) Anecdotal
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‘Universal Grammar’ as narrated by

Chomekyis...........

(1) a built in storehouse of rules
that apply to all human
languages

(2) a developed rules that apply to
the languages of all the
creatures of the world

(3) a built in storehouse of rules
that apply to all
languages

{4) a built in storehouse of rules
that apply to all children
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The process of social maturity

animal

begins at this stage.
(1) Adolescence

(2) Puberty

{(3) Childhood

(4) Adulthood
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A student of class X took same
number of trials for relearning a

lesson. The saving score of student

(2 0

(2 100

(4) 25

©5 S BUNG DD e U0l
Wrtie Sl sobonod S,
(1) 50

20

{3 100

(4) 25

Lip reading is a technique used to
teach children with this disability,
(1) Hearing impairment

(2) Visual impairment

{3} Learning disability

(4} Cerebral palsy
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(1} to create awarcness among

students about puidance

{2) to help students to make their
own choices so as to enable them

to take decisions independently
(3} to make students to obey elders

{4) toidentify the problems faced by

the students

S0 Bty DL o
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In continuous comprehensive

evaluations, ‘'comprehensive'

indicates evaluation of an

individual in the following domains.
(a) Cognitive

(b) Affective

{c) Psychomotor

(1) (a), (b)

(@) (b), (@

(3) (e, (a)

(4) (a), (b) and (c)
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(3) pesitD

(4) Srppee i

Tt S5, ATntee T TRytes
ambtes 33 350

(1) orsedfiang 550

(2) e nes

(3) SRS

(4) efsteminnld

Turn Owver
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LANGUAGE -

BOOKLET e

IT: ENGLISH

61-65 : Head the following passage.

If you look around and obhserve
common people, you'll recopnise that,
they too have a big dream. They ignore
it. They deny it. They even bury it_ It also
happens due to lack of knowledge and
ignorance about the power of learning.

If you look around and dbserve
excellent people, you'll recognise that,
they have a big dream. They never ignore
it, nor do they deny it. If they had done
mistakes in the past, they free themselves
from self-contempt. They live their dream
by extracting more and more knowledge
from the nature. surroundings,
en\rimnnmn.t_:_;‘mat experience and muost
im.ufalﬁ..:: their failure. They
act in a more mature way by aceepting
that nobody is perfect! There is always a
room for doing things in a better way.

Excellent people are those who face
tremendous sethacks. They don't succeed
because they have an abscence of
problems, but because they have an
abundance of strategies to implement and
rige above sethacks.

Not surprisingly, excellent people don't
blame themselves or others for setbacks
or don't even believe in eéxcuses, they
believe in results and only results. They
know this truth of life that it is a big world
out there and in terms of opportunity, its
getting bigger all the time.

If you are pot fulfilled or as
successful or as prosperous as you know
you could be, stop making excuses and

W-211/TET-211-EM/TM

stop blaming vour parents, voul
education, yvour surrounding and take
tall responsibility for vour circumstances.
Get up and look for situation you want and
if vou ean’t find it, make it.

Now answer the following questions based
on the given passage.

61. Common peaple do not realise their
dreams due to the ipnorance about ...
{1} the power of learning

(Z) the power of money

(3) the power of people

{4) the power of light

Excellent people live their dream by

extracting from ............

(1) nature, social circle and failure

(2) mature, money and failure

(3) nature, environment and
personal charm

G2,

(4) nature, past experience and

failure

63. Excellent people ...........
(1) never face sethacks
{2) face sethacks

{3 are always perfect

{4} are sell-contemptuous

The truth of lifeisin..........
(1) terms of opportunity
{2) termsof power

{3) terms=of people

(4} terms of excuses

If wour can't find the situation you
want, you haveto ........

(1} mve up

{2) look around for help

(3) makeit

{4) postpone it

[14]
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66-70: The following passage contains numbered blanks. Identify the correct option

for each of the blanks from those given against each number.

1f possible find a quiet place to study. You ............... (66) to spend a reasonable
amount of time for home study. Two to three hours on working days will be

crveneenennns (6T) sulficient if you are in your postgraduate or professional studies.
Thereis ...e......... (B8) of common sense in the proverb ............. (69), Good students
usually have as their friends other good students. Xavier was ........... (70) student
but in standard I¥, he began to improve fast. The reason he gave was that

Vincent, who came into his life, was a good student.

66. (1) should 69. (1) birds of same feather flock
(2) need together,
(3) has (2) bea Roman while in Rome.
(4) was {3) do good and be good,
67. (1) usually (4) abird in handis better than two
(2) frequently in the bush.
(A always T0. (1) aindifferent
(4) often (2) the indifferent
68. (1) better (3) much indifferent
(2) enough (4} anindifferent
(3) alot

(4) sufficient

W-211/TET-211-EM/TM [15] Turn Over

Bote 1The Informatiochn Provided here is only for Reference.ft may vary the original



W-211/TET-211-EM/TM

Bt 1The InformAtion Provided here is only foro Reference.It may vary the original

wwiw.rrbrecruitment.co.in

71. 'Why haven't vou gone to school

today? He said to her,
When you changed the above
sentence into the reported speech,

you will get the following.

(1) He asked her why vou hadn't
gone to school today.

{2) He asked her why she hadn't
gone to school today.

{(3) He asked her why she hadn't

gone to achool that day.

(4} He asked why you hadn't gone

to school that day.

Pick out the correct sentence among
the following,

(1) No sooner had I put the phone
down than it rang again.

{2) No sooner than [ had put the
phone down, it rang again.

{3 No sooner than had I put the

phone down, it rang again.

{4) Mo sooner I had put the phone

down, it rang again.

73.

74.

Ta.

[16]

BOOKLET @

You must buy a ticket to see the
picture:
Change the above sentence into a

compound form.

(1) If you buy a ticket, vou can see
the picture.

(2) Buy a ticket, then you can see

the picture.

(3) Buy a ticket and youcan see the

plcture,

{(4) Unless you buy a ticket, you

cannot see the picture,

No one ean do anything.

This sentence can mean.

(1) Anything can be done

(2) Anything could not be done
{3} Anything is done

(4) Nothing can be done

My family has been living in
Hyderabad for hundreds of years.

Identify the auxillary verb.
{1} Has

{2) Been

(3) Living

(1) For
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76. Shall [ wait till you come? 79. Nick managed to pull through to
The function of the model in the become an international symbol of
5 trinmph over adversity.
above SENUENCE 18 weiesee

The underlined word means ...
(Ty g (1) disability
(2} offer (2} movement
{3) order (3) difficulties

{4) suggestion (4} opposition

; 80. Inwhich of the following words is 'H'
77. 1went tothe station to say good bye

pronounced?
o my grandmother.
(1) Hour
Choose the correct phrasal verb
(2) Howl
instead of the underlined word,
(3) Honest
il (4) Honour
(2) Drop off
(3) Putoff 81l. Oneofthe followingis NOT a plural
form.
(4) Dashoff {1) Roses
(2) Boy's
78. Fitness regime should be a part and
: (3) Boys
parcel of everyday life.
- (4) Cats
The underlined phrase means ...,
(1) dedicated §2. When one is looking up for the

(2 Nalp Grsaniokh departure of the train in the
elp o nother

newspaper, one ig ........
(3) livelihood

{1) reading
(4) an integral part {2) looking for information
(%) scanning
(4) skimming
W-21U/TET-211-EM/TM [17] Turn Over
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84,

85.
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"Curriculum Vitae'
information about ...

gives

{1} the holistic personality
(2) the necd of the person
(3} the waiting ability of the person

{4) the speaking ability of the
person

Presentation of ideas with clarity,
connectivity and thoroughness
T AR

(1) eomprehension
(2} revision
(3) ::umpslris.:'!un

(4) cohesiom

Frequency and usefulness form the
basis of one of the following.

(1) Situational approach
{2y Structural approach

(3) Grammer translation method

(4) Language games

Remedial teaching 15 essential for ...
(1) pood learners

(2) slow learners

(3) any learner with a gap

(4) gifted learners

B7.

88,

89.

(18]

BOOKLET @

Continuous comprehensive

evaluation focusseson.........
{1) processevaluation

(2) product evaluation

{3) achievement only

{4} basics, evaluation

The paradigm shift in learning in
National Curriculum Framework,

(1) discovery learning
(2} activity based learning
(3) teacher centered learning

(4) exploratory learning

Miero teaching is ..o
{1} an approach

{2) a technique

(3) a method

(4) a device

Public address is an example of .......
(1} language skill
{(2) readiness skill
{3) linguistic skill

{4) communicative skill

anly for Reference .t may vary the original
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91.

92

Dte

The sum of integers between 50 and
150 which are divisible by 7is ..
50 BsDatins 150 & Safiiie Hoped 73
(1) 1162 .

(2) 1100«

(® 1172+

(4) 1421

Ifthe mean of the set of ohservations
X3 Xy By e, Xy, 18 20, then the mean
af

bl B8, 1R L 2, 44D
- ;

Xy Xy Xy caiacey X, P00 S0 200 eociss
Xty X8, w12, L a, +40

94,

95,

Eain oS pird
(1) 38 A e —
(2) 40 1-—1;'- S el
(3) 42 , it
(4) 44 e
93. If one of the exterior angles of a (= Ti
triangle is 105° and the interior
opposite angles are in the ratio 2+ 5,
then the angles of the triangle
are. ...
Sgoes g, eX o Eiao 105 G
& woborfiinoy Srees 2 : 5 2ip06°
Ty o Bt tires........, 1%
(1) 30° 75" 75° Af
{2} 100° 50°, 30°-
(3) 607, 45% 75
(4) 50" 55" 75"
W-211/TET-211-EM/TM [19]
1The Information Provided hece i ohly

1w for Reference.It

If the sum of three consecutive
multiples of 7 is 777, then the
biggest multipleis ...,

T oo, ety B8 Tordere Tastie 777

s RS Shitdee . ...... :
(1) 252 22

(2) 266. =

(3) 259

(4) 225 .

A voom of dimensions 8m % 5 m has
a varandah all around it. If the
width of varandah is 2 m, then its
areainmis...........

Ehxﬁ‘m.?mmwram;gm
e, e BHOE Ttey 2 B, e o0

(1) 30 -

| et T
3

(2) 68 e W Je
(3 40 2CAEs)
(4) 18 £

If a shopkeeper marks his goods 20%
above the cost price and allows a
discount of 10% on them, then his
gain percentageis ...,

b Somrroeinis Sie SN Dess
Fite 55 20% el 5500, o0 B
10% Bsiolion (E2%045) ooy et ity
(1) 15%

(2) 12%

(3) 10% -

(4) 8%

Turn Over

may

vary the original
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As per the laws of Physics, weight of
an object on the moon is
proportional to its weight on the
earth. If a man of 93 kg weighs
15.5 kg on the moon, then the
weight of a 89 kg woman on the

moen {in kgs)is ...

O T e e, Dol B ELD
iy Seldlia rDe D o Sisg etiipes
winasesh pearcas, 93 85% wting e w8
DR i Soesd B 15.5 8% s,

69 $8% vty e & Sogn B 8ol wtiag 2

(3108 ...
(1) 11.5¢ (2) 10.6
{4 12.5 (4) 13.5 b

A

5 g

The average weight of Raju, Deepu
and Venkat iz 40 kg. Both Deepu

100.

o
I\g.

8.2, Hon DrsiaaBhio, Dol APttt 5
B2, e SseoBhis 5D, B EPlts
Sos Bate 42 i Too S bl

SATSZese Epts (100,087 .........
(1) 9 (2) 6
{3) 12 (4) 3.

If a wire bent in the shape of a eircle
of radius 25 em is straightened and
bent in the form of a square, then
the length of the side of a square (in
[Use x=3.14]

25 2o, T e Horriied” oted
&y Bt Jarter 3 SEobSam

o ity 1 Setise g ot (Houdo.eg’)
[x=3.14] fz* “"3_..!“_{_“"5 (e

CMB) 18 ovinriones

and Venkat have the same weight. JAY 39.25 (2) 29.5 7255

If Raju's weight is 46 kg, then (3) 39.5 {4) 29.25TR-50_

Deepu's weight (in kgs) 8. !
101. In AA4ABC, if DE|IBC and

oer, Bid Sobotin 2otife S sl 40 s

L., Bt A, Desfo sbidien Samae. DE -5 AC =56 cm, then AE

e bt 46 24w wﬁuﬁm Ef.aj: O i i

Cran)i ol 1075 AD 3

= T e
(1) 40 @ 39 gr®* AABC & DE|IBC wodts o =2,
Gl

(3 a8 (4) 37, 46F AC = 56 dobo. ot AE Fob

A man walked certain distance, He ':M'b‘"”a‘)

covered 2/37 of it at 4 kmph and the (1) 2.1 i2) 2.3

remaining at 5 kmph. If the total {3) 16.8 (4) 3.4

time taken iz 42 minutes, then the ’ﬂ, & P.r

total distance (inkms) i ........ ﬁ% L\

3 911 20 ]
W-21VTET-211-EM/TM L g F
e Informa n F 4 5 = r Reference.It may wvary the original
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104.

1065.

W-Z1U/TET-211-EM/TM

www.rrbrecruitment.

Which one of the following is NOT
a Pythaporean triple?

o0 8 oriocn’ s =0,
(1) 3,4,5 -

(2) 5,12, 13-

(3) 9,10, 11+

(4) 8, 15, 17~ 3%

R
_-:.-‘:: -
the perimeter of a semicircular
protractor is 54 cm, then its diameter

(inecms)ig.........

[Uau:%]

sy potindting Senrid s Tos

54 0.0, ot o mgtios (Be.o.08)

[ a9 ﬂ': o
B MR
T ] 2741 oy

(1) 21 (2) 10.5 1

F o I ﬁtl
(3) 27 {4) 13.5 i
The normal human body

temperature is 37" eelsius, then the
same temperature in Fahrenheit
sealeis

B erties 386 A3 37" woat
PSS awsiiend® B3 samien a2
1) 98.4° (2) 98.6°
() 96.8° (4) 94.8°

Diameter of base and height of a
conical tent are 8 m and 3 m
respectively, If the rate of canvas

cloth is T 70 per square meter, then
the cost of canvas cloth required

LA o e

106.

107.

[21]

for Reference.It

co.in
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£E Boaup UG o $F Tt
Sobaias Jifpes Bt § Do, Halotia 3 B,
Torto atias e Do Sl B2, 70
03 8 Nonlie Saieesk Tl Ty
2bth (Urdaoes’)

(1) 440

(2) 4400

(3) 4440.

(4) 4447

IfA, B, C are any three points of a
plang, then which one of the

following is NOT possible?
A, B, C e el Beod® Do tarss
Doliiges waxh G+ (o0 & Do
oY
(1) AB+BC=AC—

E? (ot
(3) AB+BC<AC &

4) AB+BCzAC,

The scale of a map is given 1 : 30000,
If two cities are 4 ¢m a part in the
map, then the actual distance
between them is..........

1 : 30000 Yy esi Actadan,
Bertiaod’ Bos Byrtese Ha Sntia
4 Bols. wati T Seliio Detinti ..
(1) 1.2 km

2 1.2 m

(3) 10.2 m

(4) 10.2 km

LY oo

Turn Over
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108, If 25% of 25% of 26% of x 15 25, then

thevalueof 'x'ig..........

ot 25% Glasy. 25% ol 25% Dest
25 oo Dmsy L

(1) 1600 (2) 1500

(3) 1400 {4) 1200

109, If the price of a cooker including

5% VAT is ¥ 2,940, then its price
before adding VAT (inT}is ..o

112,

Number of cuboidal soaps of s
4cm ¥ 3 em ¥ 2em can be placed §
a cuboidal box of size 12 em x 9 ¢

12 eube. % 9 ele. % 6 Dolo, ot
fe A5 Sorwb 2BEY poundi
A4 P g e B xﬂ\ﬁi‘hm

woa Tl NelSE Sosels o 50
(et (3) 72 (4) 27/
(1)} 2,800 (2) 2.7653 113. The angle formed between angulal
(3) 2,793 (4) 2,900 bisectors of a pair of linear angle!
110. If the perimeter of a rectangle is T
28 m and its area is 40 m*, then its
Tength (ir ietis) 16 oo L3 e Lok Sree $ SiBwotss tee
5By St SosSies 28 o, 50ais BT
oo 40 G, ecas on ey (1) 70° (2) 40°
o TR (3 110° (4) 90°
(1) 4 (2) 6 i e
(3) 8 () 10, 114. The median of a set of 7 distinct
11 Ift b gl o AL . observations is 15. IT each of the
3 cm, 4 cm and 5 cm are melted and largest 3 observations of the set is-
made into a cube, then the edge of increased by 2, then the median of
the new cube (in ems)is.......... the mmmgmi’.‘wﬁw
3 o, 4 oty Sebaka hiedn. te
. T e St ohse 15. néhy
Fotes Ho Sants S ot ¥l e .
P St SE oo 3 P 38 bl
08 (3029087 oo o CelTesngme.....
K ¥ s /E'y (1 12 (@ 15
3 7 (1) 6 i‘ ."D (@) 18 (4) 20
o
W-21 1/TET-211-EM/TM [22 o g
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MATHEMATICS METHODOLOGY BOOKLET

A

11a.

116.

W-21UTET-211-EM/TM

Observe the following statements, in
the order they are given

"11g less than 100

2 is le=s than 100

315 less than 100

4 18 less than 100

Therefore all natural numbers are

less than 100', The type of logic the '

sentences presentis ...,

(1) Both intuitive and deductive
Iug‘i::

(2} Neither intuitive nor deductive
logic

(3) Intuitive logic only

i4) Poor inductive logic

1 ol Ssmet T nef ™ naletied

1, 100 58 By

2, 100 %o g5

3,100 5o vins

4, 100 %8 i

esolioe e Sepgony 100 ol biys.

Ta oy B B ...

(1) :seme SP0 LBt ANSSS B

(2) e TR B R0 b, A0 B R0
™o T

(3) e 08 65 R0 Sl

() AiEralls esiarinty R oo

In teaching Geometry, the correct

way of teaching a theerem is ......

(1) analysis af Hypothesiz and
conelusion, followed by synthetic
proof

(2) analysis of Hypothesis and
construction, followed by
gynthesis of proof

117.

[23]

(3) analysiz of Hypothesis and proof,
followed by synthesis of proof

(4) synthesis of proof, followed by
analy=is of construetion

=8 Sipsd, horered, Ghssond
(1) Seroio wobais i G, Tkl
& Bt eREhesg
(2) Sorotie wldls Joyrse G, TR
& Bl SsiFang
& BT SoRTRes
(4) 3oisusg- » Bloos Joys Ty
"The knowledge or skill acquired
through the study of a topic helps
in acquiring the knowledge or skill
of another topic'.

The Psychologist, who proposed this
principle is
(1) Stanford
(2) Froebel
(3) Thorndike
(4) Skinner

8 008 Gy, sfae Sabte o
otis apat o Fomyie, 36 g
Sl PEie Boe Ppegte Sobienl
Scly  BGobosd. T ddkEoR
(1) 5

(2) #*ad

(3) eses

(4) b

Turn Over
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118. A student teacher, had written the

119. IT

W-21UTET-211-EM/TM

= 1Th

following statement as specification
of knowledge objective,

'Pupil recalls the formula to find the
surface area of a cone',

If it has to denote the speeification

of understanding objective, then it

should be writtenas..........

(1) recalls the formulae of surface
ares of the cone and eylinder

(2) compares the formulae of
surface areas of the cone and
eylinder

(3) draws the diagrams of the cone
and cylinder

{4) solves the problems on the cone
and eylinder

L¥ Gogr s Do, B Bol Ty

©io T, Siied™ O ‘DD %ol

Dty wsbbe Jrowd Mo, whd

DopFioertis’. 30 LM o haitesi

EROeTreel Bl Diem ovaling,

(1) ol Kebotin iausico Qlaok, &x00e
oy sEre bl Dy Founts

(2) %ot 0oty BP0 Gty &350
roye e Funoeths

(3) Setialy Selothne Spiie: ak Burcin
A

(4) Sotsy Bobdin BN Sasseo

o0

learning experiences are

arvanged in the decreasing order of

their effectiveness, then Edger Dale

callitas ...

120. In

[24]

e Informatiocn Provided here is cnly for
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(1) tower of learning experiences

(2) square pyramid of learning
EXperiences

(3) cone of learning experiences

(4) triangular pyramid of learning
eXperiences

wpi e, T e wnbhres
e unstid, o0 JEAS no Dendits
(1) egsrsgoe Rgto

(2) egraagime Sasts btk

(3) sEpsrisgare ey

(4) wqpmogire S il

addition %o scholastic

achievement, if the behaviours,

interests in games and sports,

literary activities, attitudes are all

s0 assessed continuously, then the

processiscalled as ...

(1) continuous formative
evaluation

{2) continuous summative
evaluation

(3) continuous comprehensive
assesament

{4) continuous comprehensive
evaluation

SGPe Foddy JES6 S dorylion

Botver seer dod wsd, MEsE

TR e, Retesiis 5RO REcte

Bfeth 3h, o icib ger el ..,

(1) Btobt Soyre N arenesiin

(2) DESBE BofRrra, SarecEin

(3) DEoBY S Tete

(1) DEcsy S tar oo
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121.

122,
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The foree to be applied by a
machanic on a hydrolic piston of
4 sq cm cross sectional area to lift
an 8 ton truck on the other piston of
2 5q m cross sectional ares of a
hydrolic joek iz .........

(1} Bkgwt

(2) 1.6 kg wt

(2) 3.3 kg wi

(4) 32 kpwt

2 5.0, et Moo Ne el o5
% eastipte B 8 wigye itk Miowsth
e Tk 4 B e 2o sty o prae Mo
T Tt Siipie B A EIMIoutels 1os
(1) 8 Lpe

(2) 1.6 &.m.em

(3) 3.3 Lpip

(4) 32 3oue»

The reason for withdrew of planetary

status to Pluto in the 26" general

asgembly ol TAU s ...

1) it is a dark, cold, dwarf and
distant celestrial object

(2) it has an orbit resembling to that
of a comet

(3) NASA observations proved that
it 15 not a planet

(4) iterosses other planetary orbit

TUA &5 26 5 Sgptes s d’ gpd* o

He o S el Do

(1) =B o3 I8, Betite, Yoo Solcts

(2) o058, 8% %, 33 e ¥0 o

(3) NASASSvenesob Ll jtnsn mes
Fileh o

(4) w03 Ry Mo rustisnd

123. The superiority of a concave mirror

over a plane mirror, convex mirror

or aconcave lensis ...

(1) it ean form an image of any
characteristic like erect-invert;
virtual-real; magnified-
diminished

(2) unlike others only conecave
mirror ean form a clear focussed

image on the screen

(3) it is widely used than others in
day-to-day life situations

(4) for any position of the object, it
forms an image on the screen

oo dbradas, oy Sl

ORI Haatiiooe i 18 el St

2B Ko Dot Sldln (Suapd

(1} Serds - S Jctioes; - Doy
50750806 uotis el stiaces
T 2B leniats DS Eiies

(2) DeADS TRNS 30 2455 e
Solomtai Bt Jofiutetn

(%) Sl aiiirelt’ LAl A0
elis 2En G

(4) D Brsospons 30 B Pobes
o NtisEas
Turn Over



124. If A is aluminium; 8 is brass; C s

125,

126.

W-211/TET-211-EM/TM
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copper; (7is glass; and K is kerosene,
the correct ascending order their
specific heats in callg “Cis. ...

A e weFsOghs; B- sod; C-on
G-mrer So0ais K winre 3675 m 0nels
Tl Dedfi Deste wline ot
(3/em-"mediis) ..

(MBCGAK

(2) GACK B
@) CBAGK
4 ABCGK

The odd term of the following, while
describing term amplitudeis ..
(1) density

(2) pressure

(3} loudness

(4) displacement

Bo5 BR0e0n J50ed woTre wThlio G
@ob 06 gty womss . ..

(1) Sros

(2) e

(3) b

(4) axvgisie

The power of a cyelist having 40 kg
weight, while he raises the velocity
of his 40 kg weight bicvcle from 3 m/
sec to 5 m/zecin 8 secondsis......,
(1) 512k watts

(Z) 640 watts

(3) BO watts

(4) 170 joules

127.

128,

BOOKLET e

407 ity o 23S 40 Ar. o
Eﬂ:h&f‘m 5 B Bumecs q-u.:.lf".l ey
5 82, /25, 5 Solisoll ool SHoGE ..
(1) 5.12 35,

(2) 640,

(3) BO=S,

(4) 170 &,

The force acting on a 5 m long
canductor when 2 4 electric current
flows through it and 4T magnetic
field observed at 30" angle with the
conductoris..........

B S, S0 18 e oo 24 Stsb
BRRriEete ol 300 Feod 4 D3
elemon Fie getudnD minkel
Sidwes..........

(1) 2.5 N

(2} 20N

(3) 5N

(4) 1.6 N

If the pOH of an aqueous
hypochlorous acid is calculated as
8.64, the pH value of that solution
(1) 6.36

{2) 6.36 moles

(3) 5.46 % 10" igns

{4) 5.36

TR Wl meoieny pOH Destts
8.64 M firbo Dot & ieady pH Do
(1) 6.38

(2) 6.3637 -J'}

(3) 5.46x 10 “un::?::an

(4) 5.36
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29. The quantity of earbon dioxide

evalved during complete
eombustion of 23 gm of ethanol iz
(1) 88 g

(2) 224 lit

(3) 44.81it

{1) 3 moles

23 e qn’-.'-’-'?g oM Erte Deliliti
{1) 88 m.

(2 2248,

(3 4488,

4 32E

The maximum number of all orbitals

in 4" orbit of an atom are ..........

e SEErrips 4 5 880 el udy

(1) 18
(2) 32
(37

(4) 14

The element that ean not be fit ina
Dobereiner triod among the
following is ...,

T (3B Seremel oulsl snad

(1) Mn
(2} Co
@ Cr
{4y Fe

1The Informaticn Provided here is

132,

133.

134.

[27]

anly for Refersnce.It

The terms gangue, slag and Aux are
related to ..........

(1) roasting

(2) smelting

(3) caleination

(4) poling

Solires, (Gangue) Sintioes, Eiabes

(1) ggpsae
(2) s

(3) $hstestia

(4) 2BBeh

Among the following, which makes
us to recognise the importance and
conservation of biodiversity 18 ......
(1} Biology

(2} Physics

(3} Geology

{4) Chemistry

Bl 06" £ 208, Sorin, S0t
HoBols I58

(1) Ewys

(2) oz

(3) g e

(4) S wiso

The largest cellis .........
(1) nerve cell

(2) egg of an Ostrich
{3 dermal cell

(4) cell of an elephant

oS ...,
(1) =& Sme

(2) u@ﬁ ot

(@) 85 550

{4) sl Srse

Turn Over

may

Yvary the orl

gin
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135, In the following statements, the

FALSEoneis........

(1) The size of the organism depends
on the shape of the cells in it,

(2} The size of the organism does not
depend on the shape of the cells
in it.

{3) The size of the cell is related to
its function.

{4) The size of the arganism depends
on the number of cells in it

128 DR TN

(1) 22 a8, Siiree w E06% srro
eElic sl esrtRsitua .

(2) 40 Sy SBSPre o B5E8Y Sre
£ A estRRSLD,

(3) ree dlok SEiPee &b DL S
Penriiod dowol,

(4) 83 Gk 305reso e E05% wrre
o eGS0l

136. Anexample for short night duration

plant.

(1) Maize
(2) Cotton
(3) Bovabean
(4} Wheat

ey GTe Soul &Pt . ........

(1) &%

(2) =&

(3) Dom Sane
() R

BOOKLET @

137. The correctly matched one in the

138.

139,

followingis.........

(1) Taproot — parallel venation

(2) Taproot — reticulate venation

(3) Fibrous roots — reticulate
venation

{4) Fibrous roots— dicot

(1) B8l - bt oo
(2) 230 - o & atio
(3) Suald - ol e Tatte
(4) bl - a0 Dimes

Bone and muscle are joined topether
with ..ol

(1) tendons (2) lipament

(3) joint (4) cartilage

(1) Becb (2) Ervod

(3 ey (4) spteo
Match the following,

A} Homevbee 1) Aquaculture
Bl Silkworm 2) Apiculture
C) Fish 3) Sericulture
=0 Slooaiieo,

A) & S 1) wrgied

B) Sugpiuioes  2) bved

C) Tides 3) D0 kenf

(1) A-3,B-1,C-2
(2)A-3,B-2.0-1

B A-2,B-3C-1

(4 A-1,B-2,C-3

TYary the original
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140. Conversion of milk to curd is due gl s sielise.
el A) dndoaiies | 1) ST e
(1) fungi B) snaricties | 2) S et Woe
() Ve C) dppotons |3) abegres |
{3) protozoa
(4) bacteria (1) A-2,B-3,C-1
’ {(2) A-3,B-2,C-1
o LI BN s MHA-1,B-30C-2
1) sboge @) A-2,B-1,C-3
@) 35 143. The correct food chainis ...
(3) P (1) Insects -3 Plants — Rabbit—
@ pé i Deer
141. The roots of the plant that have the (2) Rabbit — Plants —Deer — Fox
'Rhizabinm’ bacteriais........ {3 Carrot —Rabbit —Cow -
(1) curry leaf Tiger
(2) beans {4) Small insects —» Frog —8nake
(3) banyan - Peacock
(4) mango TS LY Fhes e
e Dase U eriten el S HONS (1) Somes 5250 — BoSes — do
Bk, e (2) Bodes — Janfo —» S0 —» Y,
(1) stddns (3) o —» BocBes s ul - 9D
(2) 2y (@) T fues o By —» B0
(3) 20 R
(1) 2rZd 144. 'Natural selection' the famous
142, Match s TolBwing, ;heury of evolution was proposed
lA] Producers 1) Protozoans {1) Jean Baptiste Lamarck
lBJ Consumoers 2) Blue green algae (2) August Weisrr.mnn
{3) Charles Darwin
C) Decomposers | 3) Fungi (4) Mendel
S ‘S50 Diee’ &3 B0 50T Borolina
Uy SODPOOTETHED.....oo
(2) A-3,B-2,C-1 (1) S5kl ound,
@) A-1,B-38,C—2 ) ﬂ”%*;%sm
4 A-2,B-1,C-3 ::‘]_l = £
W-21 /TET-211-EM/TM [29) Turn Over



www.rrbrecruitment.co.in

SCIENCE METHODOLOGY

BOOKLET 9

145.

146,
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The zcientist wha diseovered that
lightening consists electricity.

{1) Benjamin Franklin

(Z) Galvani

{3) Andre Ampere

{4) Georg Ohm

Totiper S &elt oS el Bl TS

(1) Boead Predls

(2) ol

(3) esoiss eschoial

(4) wfrle

The academic standard not belongs

to science accoring to New science

textbooks.

f1) Asking questions

(2) Experimentation

(3 Communication through model
maling

{4) Manipulation

s D T SpsTe G 00

TRE" D0 i Sewefolis IorsErTIo

-4 <= N

(1) ggesse

(2) SBrres Sdistis

(3) Ssorreits Jotblis MO BB
Sclioiie

(4) wrisoissse

147. The three dimensional teaching aid

among the following is ........
(1) television

{2) computer

(3) blackboard

{4) specimen

B0l & Beytobat Sihitiens
(1) Sbowb

(2) segryesb

(3) Sgwg

(4) ot

148. A teacher, "washed the wound with

plenty of water and then covered the
wound with a eotton dipped in silver
nitrate solution” as a frstad for the
accident occurred in lahoratory,
Then the tvpe of aceident 15..........
(1) burns from phosphorous

(2) burns from alkalies

(3) burns from acids

{4) acid in eye

L8 phDrNTed® B s N S
SEeye advraiais mobe DG oTrslh,
aoioell.

(1) B wg i oo

(2) pore Seis 85 e

(3) esire Sen »I0 mdize

(4) 3off wimo st
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Learning about different food habits
of birds during a field visit to a birds
sanctuary is this type of learning.
(1} Learning by doing

{2y Learning by observation

(4) Learning through peer group
(4) Learning by reading

w3 Dagp i Roll Sojioi Hoplottio
iSado LiREY woLE 0oD Buitiulis
s U e wal

(1) Scnte oydunSiots

(2) So%Bemke oo kint atc

(3) Susciio,e spetic CRo Rty SeEo
(4) Bistic o ainFato

BOOKLET @

150, Which of the following is NOT a

purpose of the formative

evaluation?

(1) Todecide the rank of the student
inaclass,

(2} To make necessary changes in
teaching strategies.

(3) To get feedback about learning
student at different stages of
teaching.

{4) To improve the guality of

teaching learning process,

208 06 D8 Tovrrny Sapenesic

B3, ooy R B

(1) 6558 Dond o TRl Dtsiitin.

(2) G it G SItne
Sctise.

(8) S’ D08 wed' Dol o,
et Souchon Sl rolite.

() Shrgpss  Eland’ e
edebentis.

[31]
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